CAPILLARY PRESSURE PROBLEM

Problem

Determine Sw at various points, h, above the free water level in the reservoir given a laboratory Pc vs Sw relationship.

Theory 

Use the Leverett J function because various points in the reservoir have a different permeability and porosity and may also have a different fluid pair from that used to determine the laboratory Pc vs Sw relationship.

Solution

Calculate PcRES from gh







Conclusion

For any point h in the reservoir with permeability k and porosity  calculate PcLAB using above relationship, then interpolate the laboratory curve to get Sw in the reservoir at point h.

_950589926.unknown

_950589924.unknown

